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Conservation of Mechanical Energy                                                         
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The KE and PE of a block freely sliding down a ramp are shown in only one place in the sketch. Fill in the missing values.
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2. A ball gains 30 J of potential energy when lifted to the top of a vertical post. 
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How much potential energy will it gain if rolled to the top of an incline that is the same height as the post? Explain! _________________________________________________________________________________

If the ramp is then subdivided into three equally spaced steps, how much potential energy will it have on the second step? ______________________________ ;     on the third step? ______________________________

If the ball where to fall off the back of the platform, how much kinetic energy would it have when it strikes the ground? ______________________________
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A ball is released from rest at the top of a semi-circular ramp. Identify the missing quantity of energy. Explain! 
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4. A pendulum is initially displaced to a height h where it has 10 J of potential energy. After it is released, specify the amount of kinetic energy that it will have at each of the following positions in its swing.
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5. All of the ramps are 5 meters high. From conservation of energy, we know that the KE of the block at the bottom of the ramp will be equal to the loss of PE. Find the speed of the block at ground level in each case.
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______________________         ________________________        _________________________

6. A big metal bead slides due to gravity along a wire. It starts from rest at the top of the wire as shown in the sketch. The mass is 1kg. 


What is the PE at Point A?

_______________________________

At Point B, all of the PE has been turned into KE

How fast is it traveling as it passes:
Point B? _______________      

Point D? _______________      

Point E? _______________
7. If a car, when moving at 30 km/h, has 10 J of kinetic energy,
how much kinetic energy would it have if it 

A) doubled its speed to 60 km/h? 
B) Tripled its speed to 90 km/h? Show work!


Total Energy=_______





Total Energy=_______





Total Energy=_______
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